

2904 59TH AVENUE DRIVE EAST

BRADENTON, FL 34203 USA Phone: 800-228-8368

Fax: 941-756-2598

CITY OF MARCO ISLAND

50 BALD EAGLE DRIVE ATTN: FIRE DEPARTMENT MARCO ISLAND FL 34145 USA

### **Amended**

## **Service Estimate**

Page Quote No: 1/13 231044148

Quote Date

02/25/25

Sales Employee

-No Sales Employee-

Customer No.

C00618

PO Number

#22-730K (TOWER 50)

Equipment Id.:

VIN #: Description: Veh. Miles: Veh. Hours:

Approved:

THE LAKE COUNTY CONTRACT

De	escription	Quantity	UoM	Price	Total
COMPL	PERFORM 6 MONTH (CHASSIS) PREVENTATIVE MAINTENANCE (PMB) SERVICE ON UNIT# T50		* *** *** *** ***		
Parts	SERVICE PARTS (OIL, LUBE FILTER, FUEL/WATER SEP, FUEL FILTER)	1	EA	414.00	414.00
ABOR	PM-B SERVICE	4		195.00	780.00
SHOP	CALCULATED ON 8% OF LABOR \$	1		62.40	62.40
) Si	ubtotal:				1,256.40
COMPL	PERFORM NFPA PUMP TEST ON UNIT# T50 (JOB# 32612)				
ABOR	PUMP TEST	1		300.00	300.00
008 <b>s</b> i	ubtotal:				300.00
COMPL	MONITOR IS INOPERATIVE				
Parts	MONITOR KIT	1	EA	804.00	804.00
Parts	FREIGHT	1	EA	55.00	55.00
LABOR	DIAGNOSIS / REPAIR	3.5		195.00	682.50
SHOP	CALCULATED ON 8% OF LABOR \$	1		54.60	54.60
014 s	ubtotal:				1,596.10
COMPL	CHECK ENGINE LAMP IS ON				
LABOR	NEEDS DIAGNOSIS	1		195.00	195.00

Confirm Info :	Signature :	
Date:		



2904 59TH AVENUE DRIVE EAST

BRADENTON, FL 34203

USA

Phone: 800-228-8368 Fax: 941-756-2598

### CITY OF MARCO ISLAND

50 BALD EAGLE DRIVE ATTN: FIRE DEPARTMENT MARCO ISLAND FL 34145 USA **Amended** 

**Service Estimate** 

Page

Quote No:

231044148

2/13

Quote Date

02/25/25

Sales Employee

-No Sales Employee-

Customer No.

PO Number

C00618 #22-730K (TOWER 50)

CO MINIMONI

Equipment Id.:

VIN #: Description:

Veh. Miles:

Veh. Hours:

Approved:

THE LAKE COUNTY CONTRACT

	Description	0		
		Quantity UoM	Price	Tota
SHOP	CALCULATED ON 8% OF LABOR \$	1	15.60	15.6
118	Subtotal:			210.60
COMPL	STEERING FEELS LOOSE, PULLS TO THE RIGHT, LOTS OF PL	AY		
ABOR	NEEDS DIAGNOSIS	10	195.00	1,950.00
SHOP	CALCULATED ON 8% OF LABOR \$	1	156.00	156.00
	HEIGHT IS 1" TOO LOW. COULS POSSIBLY NEED SHOCK AB BOLTS. SET RIDE HEIGHT AND TOE END. PULL OFF SHOCK REPLACE THE BUMP STOPS.***	SSORBERS. SUGGEST TO REMOVE AND REPLAC ABSORBERS INSPECT AND REPLACE IF NEEDE	E STEERING BOX D AND ALSO	
	BOLTS. SET RIDE HEIGHT AND TOE END. PULL OFF SHOCK	SSORBERS. SUGGEST TO REMOVE AND REPLAC ABSORBERS INSPECT AND REPLACE IF NEEDE	E STEERING BOX D AND ALSO	
	BOLTS. SET RIDE HEIGHT AND TOE END. PULL OFF SHOCK REPLACE THE BUMP STOPS.*** Subtotal:	SSORBERS. SUGGEST TO REMOVE AND REPLAC ABSORBERS INSPECT AND REPLACE IF NEEDE	E STEERING BOX D AND ALSO	2,106.00
	BOLTS. SET RIDE HEIGHT AND TOE END. PULL OFF SHOCK REPLACE THE BUMP STOPS.***	SORBERS. SUGGEST TO REMOVE AND REPLAC ABSORBERS INSPECT AND REPLACE IF NEEDE	E STEERING BOX D AND ALSO	2,106.00
COMPL	BOLTS. SET RIDE HEIGHT AND TOE END. PULL OFF SHOCK REPLACE THE BUMP STOPS.*** Subtotal:	SSORBERS. SUGGEST TO REMOVE AND REPLAC ABSORBERS INSPECT AND REPLACE IF NEEDE	E STEERING BOX D AND ALSO	2,106.00 219.00
COMPL Parts	BOLTS. SET RIDE HEIGHT AND TOE END. PULL OFF SHOCK REPLACE THE BUMP STOPS.***  Subtotal:  COOLANT LEAK AND PRESSURE TEST SYSTEM	ABSORBERS INSPECT AND REPLACE IF NEEDE	D AND ALSO	
023  COMPL  Parts  LABOR	BOLTS. SET RIDE HEIGHT AND TOE END. PULL OFF SHOCK REPLACE THE BUMP STOPS.***  Subtotal:  COOLANT LEAK AND PRESSURE TEST SYSTEM  2 HOSES AND CLAMPS	ABSORBERS INSPECT AND REPLACE IF NEEDE	219.00	219.00
Parts  LABOR	BOLTS. SET RIDE HEIGHT AND TOE END. PULL OFF SHOCK REPLACE THE BUMP STOPS.***  Subtotal:  COOLANT LEAK AND PRESSURE TEST SYSTEM  2 HOSES AND CLAMPS  DIAGNOSIS AND REPAIR	ABSORBERS INSPECT AND REPLACE IF NEEDE	219.00 195.00	219.00 780.00
Parts  ABOR  SHOP	BOLTS. SET RIDE HEIGHT AND TOE END. PULL OFF SHOCK REPLACE THE BUMP STOPS.***  Subtotal:  COOLANT LEAK AND PRESSURE TEST SYSTEM  2 HOSES AND CLAMPS  DIAGNOSIS AND REPAIR  CALCULATED ON 8% OF LABOR \$	ABSORBERS INSPECT AND REPLACE IF NEEDE	219.00 195.00	219.00 780.00 62.40
Parts  LABOR  SHOP	BOLTS. SET RIDE HEIGHT AND TOE END. PULL OFF SHOCK REPLACE THE BUMP STOPS.***  Subtotal:  COOLANT LEAK AND PRESSURE TEST SYSTEM  2 HOSES AND CLAMPS  DIAGNOSIS AND REPAIR  CALCULATED ON 8% OF LABOR \$  Subtotal:	ABSORBERS INSPECT AND REPLACE IF NEEDE	219.00 195.00	219.00 780.00 62.40

Confirm Info :	Signature :		
Date:			



2904 59TH AVENUE DRIVE EAST

BRADENTON, FL 34203

USA

Phone: 800-228-8368 Fax: 941-756-2598

### CITY OF MARCO ISLAND

50 BALD EAGLE DRIVE ATTN: FIRE DEPARTMENT MARCO ISLAND FL 34145 **Amended** 

**Service Estimate** 

Page

Quote No:

231044148

Quote Date

02/25/25

3/13

Sales Employee

-No Sales Employee-

Customer No.

C00618

PO Number

#22-730K (TOWER 50)

Equipment Id.:

VIN #: Description:

Veh. Miles:

Veh. Hours:

Approved:

THE LAKE COUNTY CONTRACT

					Currency: \$
	Description	Quantity	UoM	Price	Total
SHOP	CALCULATED ON 8% OF LABOR \$	1		23.40	23.40
033	Subtotal:				684.90
COMPL	REPLACE PUMP (INTERNAL DAMANGE) DIAGNOSIS COMPLETE				
Parts	PUMP, OIL COOLER FAN AND MISC PARTS (SEE ESTIMATE SENT FIRE PROPERTY SENT FREE PROPERTY SENTENCES OF THE PROPERTY OF THE PROPE	1	EA	45,786.45	45,786.45
Parts	FREIGHT CHARGES	1	EA	1,375.00	1,375.00
LABOR	INSTALLATION	32		195.00	6,240.00
SHOP	CALCULATED ON 8% OF LABOR \$	1		499.20	499.20
039 <b>s</b>	ubtotal:				53,900.65
COMPL	DIAGNOSE NOISE COMING FROM PUMP / STARTED OVERHEATING / GRINDING NOISE				******
LABOR	DIAGNOSIS	1		195.00	195.00
SHOP	CALCULATED ON 8% OF LABOR \$	1		15.60	15.60
043 s	ubtotal:			***************************************	210.60
COMPL	NOISE COMING FROM WATER PUMP / TRANSFER CASE			* * * * * * * * * * * * * * * * * * * *	
ABOR	NEEDS DIAGNOSES	1		195.00	195.00
БНОР	CALCULATED ON 8% OF LABOR \$	1		15.60	15.60
)47 s	ubtotal:				210.60
	***************************************				

Confirm Info :	Signature :	
Date:		
Date:		



2904 59TH AVENUE DRIVE EAST

BRADENTON, FL 34203

USA

Phone: 800-228-8368 Fax: 941-756-2598

CITY OF MARCO ISLAND

50 BALD EAGLE DRIVE ATTN: FIRE DEPARTMENT MARCO ISLAND FL 34145 USA Amended

**Service Estimate** 

Page

Quote No:

Quote Date

4/13

231044148

02/25/25

Sales Employee

-No Sales Employee-

Customer No.

PO Number

#22-730K (TOWER 50)

C00618

Equipment Id.: VIN #:

VIN #:

Description: Veh. Miles:

Veh. Hours:

Approved:

THE LAKE COUNTY CONTRACT

				Currency: \$
	Quantity	UoM	Price	Total
THERE IS AN EXHAUST LEAK				
BELLOWS, EXHAUST AND EXHAUST GASKETS	1	EA	752.00	752.00
DIAGNOSIS AND REPAIR	1		195.00	195.00
CALCULATED ON 8% OF LABOR \$	1		15.60	15.60
ototal:		*** *** *** *** *** *** *** *		962.60
PERFORM FOAM SYSTEM MAINTENANCE (HUSKY SYSTEM)	*****************		***************	
SERVICE FOAM SYSTEM	2.5		195.00	487.50
CALCULATED ON 8% OF LABOR \$	1		39.00	39.00
total:		* * * * * * * * * * * * * * * * * * * *	****************	526.50
GAUGES ON PUMP PANEL LEAKING FLUID				
2 GAUGES	1	EA	353.00	353.00
DIAGNOSIS AND REPAIR	1		195.00	195.00
CALCULATED ON 8% OF LABOR \$	1		15.60	15.60
total:		• • • • • • • • • • • • • • • • • • • •	******************	563.60
TURBO DRAIN TUBE LEAKING OIL				
DIAGNOSIS	1.5		195.00	292.50
	DIAGNOSIS AND REPAIR  CALCULATED ON 8% OF LABOR \$  ROTAL:  PERFORM FOAM SYSTEM MAINTENANCE (HUSKY SYSTEM)  SERVICE FOAM SYSTEM  CALCULATED ON 8% OF LABOR \$  ROTAL:  GAUGES ON PUMP PANEL LEAKING FLUID  2 GAUGES  DIAGNOSIS AND REPAIR  CALCULATED ON 8% OF LABOR \$  CALCULATED ON 8% OF LABOR \$	THERE IS AN EXHAUST LEAK  BELLOWS, EXHAUST AND EXHAUST GASKETS  1  DIAGNOSIS AND REPAIR  1  CALCULATED ON 8% OF LABOR \$  1  Rotal:  PERFORM FOAM SYSTEM MAINTENANCE (HUSKY SYSTEM)  SERVICE FOAM SYSTEM  2.5  CALCULATED ON 8% OF LABOR \$  1  total:  GAUGES ON PUMP PANEL LEAKING FLUID  2 GAUGES  1  CALCULATED ON 8% OF LABOR \$  1	THERE IS AN EXHAUST LEAK  BELLOWS, EXHAUST AND EXHAUST GASKETS  1 EA  DIAGNOSIS AND REPAIR  1  CALCULATED ON 8% OF LABOR \$  1  total:  PERFORM FOAM SYSTEM MAINTENANCE (HUSKY SYSTEM)  SERVICE FOAM SYSTEM  2.5  CALCULATED ON 8% OF LABOR \$  1  total:  GAUGES ON PUMP PANEL LEAKING FLUID  2 GAUGES  1 EA  DIAGNOSIS AND REPAIR  1  CALCULATED ON 8% OF LABOR \$  1	### THERE IS AN EXHAUST LEAK  #### THERE IS AN EXHAUST LEAK  #### BELLOWS, EXHAUST AND EXHAUST GASKETS  #### 1

Confirm Info :	Signature :	
Date:		
Date .	The state of the s	



2904 59TH AVENUE DRIVE EAST

BRADENTON, FL 34203

USA

Phone: 800-228-8368 Fax: 941-756-2598

### CITY OF MARCO ISLAND

50 BALD EAGLE DRIVE ATTN: FIRE DEPARTMENT MARCO ISLAND FL 34145 **Amended** 

**Service Estimate** 

Quote No:

231044148

Quote Date

02/25/25

5/13

Sales Employee

-No Sales Employee-

Customer No.

C00618

PO Number

#22-730K (TOWER 50)

Equipment Id.:

VIN #:

Description:

Veh. Miles:

Veh. Hours:

Approved:

THE LAKE COUNTY CONTRACT

					Currency:
Di	escription	Quantity	UoM	Price	Tota
SHOP	CALCULATED ON 8% OF LABOR \$	1		23.40	23.40
065 <b>S</b> i	ubtotal:				315.90
COMPL	PERFORM TRANSMISSION SERVICE				
Parts	FLUID AND FILTER	1	EA	200.00	200.00
_ABOR	TRANSMISSION SERVICE	1		195.00	195.00
SHOP	CALCULATED ON 8% OF LABOR \$	1		15.60	15.60
)70 <b>S</b> t	ubtotal:				410.60
COMPL	DEGREASE POWERTRAIN AND CHASSIS AND INSPECT FOR LEAKS		*****************		
ABOR	INSPECTION	1		195.00	195.00
SHOP	CALCULATED ON 8% OF LABOR \$	1		15.60	15.60
74 Su	ubtotal:				210.60
COMPL	ADD WIRE PROTECTION TO WIRNG AND HOSES ON DRIVERS SIDE OF ENGINE				
ABOR	INSTALLATION	1.5		195.00	292.50
HOP	CALCULATED ON 8% OF LABOR \$	1		23.40	23.40
78 <b>S</b> u	ıbtotal:				315.90
OMPL	FRONT HUB OIL EXHANGE SERVICE				

This is an estimate, not a contract, and is valid for 30 calendar days. Estimates are provided on a best-endeavors basis only. Work will be charged based upon the price of parts provided by TEN-8 FIRE & SAFETY, LLC, plus labor. If there is any unforeseen work directly related to the repairs on  $this\ estimate,\ the\ customer\ will\ be\ contacted\ for\ authorization\ to\ complete\ the\ additional\ work.\ If\ the\ additional\ work\ is\ declined,\ the\ customer\ is\ declined\ is\ declined\ the\ customer\ is\ declined\ the\ customer\ is\ de$ still liable for any work already completed per this estimate. By signing below, you authorize TEN-8 FIRE & SAFETY, LLC. to perform the repairs detailed in the estimate above.

Confirm Info :	Signature :	
	A SEA OF SECURIOR SEC	
Date:		



2904 59TH AVENUE DRIVE EAST

BRADENTON, FL 34203

Phone: 800-228-8368 Fax: 941-756-2598

**CITY OF MARCO ISLAND** 

50 BALD EAGLE DRIVE ATTN: FIRE DEPARTMENT MARCO ISLAND FL 34145 USA

### Amended

## **Service Estimate**

Page

Quote No:

Quote Date

231044148 02/25/25

6/13

Sales Employee

-No Sales Employee-

Customer No.

C00618

PO Number

#22-730K (TOWER 50)

Equipment Id.:

VIN #:

Description:

Veh. Miles:

Veh. Hours:

Approved:

THE LAKE COUNTY CONTRACT

					Currency: \$
	escription	Quantity	UoM	Price	Tota
arts	GEAR OIL	1	EA	44.00	44.00
ABOR	SERVICE	1.5		195.00	292.50
HOP	CALCULATED ON 8% OF LABOR \$	1		23.40	23.40
83 <b>S</b> u	btotal:			***************	359.90
OMPL	REPLACE ALL ROLLERS ON ALL COMPARTMENT DOORS (INSPECTED AND ALL HAVE DAMAGE)				
arts	ROLLERS	1	EA	1,044.00	1,044.00
arts	FREIGHT CHARGES	1	EA	50.00	50.00
ABOR	REMOVE AND INSTALL	20		195.00	3,900.00
HOP	CALCULATED ON 8% OF LABOR \$	1		312.00	312.00
89 Su	btotal:	*****************	** *** *** ***		5,306.00
OMPL	REAR LADDER MOUNT BOLTS LOOSE	***************************************			
BOR	REMOVE PANELS TO TIGHTEN BOLTS	1.5		195.00	292.50
HOP	CALCULATED ON 8% OF LABOR \$	1		23.40	23.40
3 Sul	ototal:	* * * * * * * * * * * * * * * * * * * *			315.90
OMPL	REPLACE MISSING PLASTIC PADS ON REAR STEP LADDER				
rts	WAITING ON PARTS PRICING	1	EA	0.00	0.00

Confirm Info :	Signature :	
Date :		



2904 59TH AVENUE DRIVE EAST

BRADENTON, FL 34203

USA

Phone: 800-228-8368 Fax: 941-756-2598

### CITY OF MARCO ISLAND

50 BALD EAGLE DRIVE ATTN: FIRE DEPARTMENT MARCO ISLAND FL 34145 USA **Amended** 

**Service Estimate** 

Page

Quote No:

Quote Date

Sales Employee

7/13 231044148

02/25/25

-No Sales Employee-

Customer No. PO Number

C00618 #22-730K (TOWER 50)

Equipment Id.:

VIN #:

Description: Veh. Miles:

Veh. Hours:

Approved:

THE LAKE COUNTY CONTRACT

					Currency: \$
С	Description	Quantity	UoM	Price	Total
LABOR	INSTALLATION	0.5		195.00	97.50
SHOP	CALCULATED ON 8% OF LABOR \$	1	• • • • • • • • • • • • • • • • • • • •	7.80	7.80
098 s	ubtotal:				105.30
COMPL	REAR CLEARANCE LAMPS ARE BROKEN				
Parts	RED MARKER	1	EA	48.00	48.00
LABOR	REMOVE / INSTALL	0.75		195.00	146.25
SHOP	CALCULATED ON 8% OF LABOR \$	1		11.70	11.70
103 <b>s</b>	ubtotal:				205.95
COMPL	PERFORM GENERATOR SERVICE ON UNIT				
Parts	TUNE UP KIT	1	EA	100.00	100.00
LABOR	SERVICE	1.5		195.00	292.50
SHOP	CALCULATED ON 8% OF LABOR \$	1		23.40	23.40
108 <b>s</b>	ubtotal:				415.90
COMPL	PERFORM POWER STEERING SERVICE ON UNIT				
Parts	FLUID AND FILTER	1	EA	100.00	100.00
LABOR	SERVICE	1.5		195.00	292.50
	FLUID AND FILTER		EA		100.00

Confirm Info :	Signature :	
	this Will appropriate	
Date:		



2904 59TH AVENUE DRIVE EAST

BRADENTON, FL 34203

USA

Phone: 800-228-8368 Fax: 941-756-2598

CITY OF MARCO ISLAND

50 BALD EAGLE DRIVE ATTN: FIRE DEPARTMENT MARCO ISLAND FL 34145 USA **Amended** 

**Service Estimate** 

Page

Quote No:

Quote Date

8/13 231044148

231044148 02/25/25

Sales Employee

-No Sales Employee-

Customer No.

PO Number

C00618

#22-730K (TOWER 50)

Equipment Id.:

VIN #:

Description:

Veh. Miles:

Veh. Hours:

Approved:

THE LAKE COUNTY CONTRACT

				Currency: \$
D	escription	Quantity UoM	Price	Total
SHOP	CALCULATED ON 8% OF LABOR \$	1	23.40	23.40
113 SI	ubtotal:		***************	415.90
COMPL	RE-TORQUE LADDER PEDESTAL BOLTS		*******************	
LABOR	RE-TORQUE BOLTS	0.5	195.00	97.50
SHOP	CALCULATED ON 8% OF LABOR \$	1	7.80	7.80
117 St	ubtotal:			105.30
COMPL	CHECK OIL LEVEL FOR AERIAL ROTATIONAL GEARBOX			
Parts	1 GALLON 80W90	1 EA	44.00	44.00
LABOR	CHECK AND FILL	1.5	195.00	292.50
SHOP	CALCULATED ON 8% OF LABOR \$	1	23.40	23.40
122 <b>S</b> u	ıbtotal:			359.90
COMPL	INSTALL DOOR STOPS FOR SCBA DOORS			
Parts	WAITING ON PARTS PRICING	1 EA	100.00	100.00
LABOR	INSTALLATION	0.5	195.00	97.50
SHOP	CALCULATED ON 8% OF LABOR \$	1	7.80	7.80
127 Su	ibtotal:			205.30
COMPL	OIL FILL CAP IS CRACKED			

Confirm Info :	Signature :	
	that the constitution	
Date:		



2904 59TH AVENUE DRIVE EAST

BRADENTON, FL 34203

USA

Phone: 800-228-8368 Fax: 941-756-2598

### CITY OF MARCO ISLAND

50 BALD EAGLE DRIVE ATTN: FIRE DEPARTMENT MARCO ISLAND FL 34145 USA

### Amended

### **Service Estimate**

Page

Quote No:

231044148

9/13

Quote Date

02/25/25

Sales Employee

-No Sales Employee-

Customer No.

C00618

PO Number

#22-730K (TOWER 50)

Equipment Id.:

VIN #:

Description:

Veh. Miles:

Veh. Hours:

Approved:

THE LAKE COUNTY CONTRACT

					Currency: \$
	Description	Quantity	UoM	Price	Total
Parts	WAITING ON PARTS PRICING	1	EA	0.00	0.00
LABOR	REPLACE FILLER TUBE ASSEMBLY	1		195.00	195.00
SHOP	CALCULATED ON 8% OF LABOR \$	1		15.60	15.60
132 s	Subtotal:				210.60
COMPL	PUMP PANEL STEP STRAP MISSING	*****************************			
Parts	WAITING ON PARTS PRICING	1	EA	0.00	0.00
LABOR	INSTALLATION	0.5		195.00	97.50
SHOP	CALCULATED ON 8% OF LABOR \$	1		7.80	7.80
137 s	iubtotal:	***************************************			105.30
COMPL	REPLACE OFFICERS FRONT SEAT BELT (FRAYED)				
Parts	SEAT BELT	1	EA	404.00	404.00
Parts	FREIGHT CHARGES	1	EA	45.00	45.00
LABOR	REMOVE / INSTALL	1.5		195.00	292.50
SHOP	CALCULATED ON 8% OF LABOR \$	1		23.40	23.40
143 SI	ubtotal:		***********		764.90
COMPL	REPLACE DRIVERS FRONT SEAT BELT		***********		
		A STATE STATE STATE STATE STATE OF THE STATE			



2904 59TH AVENUE DRIVE EAST

BRADENTON, FL 34203

USA

Phone: 800-228-8368 Fax: 941-756-2598

### CITY OF MARCO ISLAND

50 BALD EAGLE DRIVE ATTN: FIRE DEPARTMENT MARCO ISLAND FL 34145 USA Amended

**Service Estimate** 

Page

Quote No:

Sales Employee

Quote Date

10/13

231044148 02/25/25

-No Sales Employee-

Customer No.

C00618

PO Number

#22-730K (TOWER 50)

Equipment Id.:

VIN #:

Description:

Veh. Miles:

Veh. Hours:

Approved:

THE LAKE COUNTY CONTRACT

Total 409.00 45.00 292.50 0.00
45.00 292.50 0.00
292.50 0.00
0.00
746,50
0.00
97.50
7.80
105.30
68.00
40.00
97.50
7.80
213.30

Confirm Info :	Signature :	
	6.4.8 MAI grow-decement	
Date:		



2904 59TH AVENUE DRIVE EAST

BRADENTON, FL 34203

USA

Phone: 800-228-8368 Fax: 941-756-2598

### CITY OF MARCO ISLAND

50 BALD EAGLE DRIVE ATTN: FIRE DEPARTMENT MARCO ISLAND FL 34145 USA

### **Amended**

### **Service Estimate**

Page Quote No:

Quote Date

11/13 231044148

02/25/25
-No Sales Employee-

Sales Employee

C00618

#22-730K (TOWER 50)

Equipment Id.: VIN #: Description: Veh. Miles:

Customer No.

PO Number

Veh. Hours:

Approved:

THE LAKE COUNTY CONTRACT

	Quantity	UoM	Price	Tota
RAKE DRUMS AND SHOES (BOTH SIDES) ARE WORN SPEC ***CRACKING***				
RAKE DRUMS / SHOES	1	EA	3,561.00	3,561.00
E / INSTALL / ADJUST BRAKES	8		195.00	1,560.00
ATED ON 8% OF LABOR \$	1		124.00	124.00
				5,245.00
PUMP VALVE LEAKING			*******************	
N RE-BULID KIT	1	EA	196.00	196.00
SIS AND REPAIR	3		195.00	585.00
ATED ON 8% OF LABOR \$	1		46.80	46.80
	***********************		*****************	827.80
LAMP INOPERATIVE			*****************	
P LAMP	1	EA	181.00	181.00
SIS AND REPAIR	0.5		195.00	97.50
TED ON 8% OF LABOR \$	1		7.80	7.80
				286.30
RTMENT LIGHT ARE INOPERATIVE (NO POWER)				
	RAKE DRUMS AND SHOES (BOTH SIDES) ARE WORN SPEC ***CRACKING*** RAKE DRUMS / SHOES  I INSTALL / ADJUST BRAKES  ATED ON 8% OF LABOR \$  D PUMP VALVE LEAKING  N RE-BULID KIT  SIS AND REPAIR  ATED ON 8% OF LABOR \$  D LAMP INOPERATIVE  P LAMP  SIS AND REPAIR  ATED ON 8% OF LABOR \$  RETMENT LIGHT ARE INOPERATIVE (NO POWER)	RAKE DRUMS AND SHOES (BOTH SIDES) ARE WORN SPEC ***CRACKING*** RAKE DRUMS / SHOES  1  1  1  1  1  1  1  1  1  1  1  1  1	ARKE DRUMS AND SHOES (BOTH SIDES) ARE WORN  SPEC ***CRACKING***  RAKE DRUMS / SHOES  1 EA  ATED ON 8% OF LABOR \$  1 PA  D PUMP VALVE LEAKING  N RE-BULID KIT  1 EA  SIS AND REPAIR  3 NTED ON 8% OF LABOR \$  1 LEA  SIS AND REPAIR  D LAMP INOPERATIVE  P LAMP  1 EA  SIS AND REPAIR  0.5  TED ON 8% OF LABOR \$  1	AXE DRUMS AND SHOES (BOTH SIDES) ARE WORN SPEC ****CRACKING****  RAKE DRUMS / SHOES  1 EA 3,561.00  E/ INSTALL / ADJUST BRAKES  8 195.00  ATED ON 8% OF LABOR \$  1 124.00  D PUMP VALVE LEAKING  N RE-BULID KIT  1 EA 196.00  SIS AND REPAIR  3 195.00  ATED ON 8% OF LABOR \$  1 46.80  D LAMP INOPERATIVE  P LAMP  1 EA 181.00  SIS AND REPAIR  0.5 195.00  TED ON 8% OF LABOR \$  1 7.80

Confirm Info :	Signature :	
Date :	9458 N. 10 (Major) (1930)	



2904 59TH AVENUE DRIVE EAST

BRADENTON, FL 34203

USA

Phone: 800-228-8368 Fax: 941-756-2598

### CITY OF MARCO ISLAND

50 BALD EAGLE DRIVE ATTN: FIRE DEPARTMENT MARCO ISLAND FL 34145 USA

**Amended** 

**Service Estimate** 

Page

Quote No:

12/13

Quote Date

231044148 02/25/25

Sales Employee

-No Sales Employee-

Customer No. PO Number

C00618 #22-730K (TOWER 50)

Equipment Id.:

VIN #:

Description:

Veh. Miles:

Veh. Hours:

Approved:

THE LAKE COUNTY CONTRACT

Currency:									
Tota	Price	tity UoM	Quantity					escription	
390.0	195.00		2				GNOSIS	NEEDS DIA	LABOR
31.20	31.20	• • • • • • • • • • • • • • • • • • • •	1			\$	D ON 8% OF LABOR	CALCULATI	SHOP
421.20			* * * * * * * * * * * * * * * * * * * *					ubtotal:	179
					W SPEC (BOTH	OS WORN BELOW	KE ROTORS AND PAD	FRONT BRA	COMPL
1,882.00	1,882.00	EA	1				ADS AND SEALS	ROTORS, P	Parts
1,560.00	195.00		8		REMOVE / REPLACE ROTORS, PADS AND SEALS / ADJUST BRAKES		LABOR		
124.80	124.80		1		CALCULATED ON 8% OF LABOR \$		SHOP		
3,566.80	********					*************		ıbtotal:	184
\$ 85,131.30		Subtotal:	Su						Tax Detail
\$ 85,131.30		Total Before Tax:	То	Т	Net	Ne	Tax %		Tax Cod
\$ 0.00		Total Tax Amount:	То			-			
\$ 85,131.30		Total Amount:	Tot	Shipping Type				penses:	Additional

This is an estimate, not a contract, and is valid for 30 calendar days. Estimates are provided on a best-endeavors basis only. Work will be charged based upon the price of parts provided by TEN-8 FIRE & SAFETY, LLC, plus labor. If there is any unforeseen work directly related to the repairs on  $this\ estimate, the\ customer\ will\ be\ contacted\ for\ authorization\ to\ complete\ the\ additional\ work.\ If\ the\ additional\ work\ is\ declined,\ the\ customer\ is\ declined\ for\ authorization\ to\ complete\ the\ additional\ work\ is\ declined\ for\ authorization\ to\ complete\ the\ additional\ work\ is\ declined\ for\ authorization\ to\ complete\ the\ additional\ work\ is\ declined\ for\ authorization\ to\ complete\ the\ additional\ work\ is\ declined\ for\ authorization\ to\ complete\ the\ additional\ work\ is\ declined\ for\ authorization\ to\ complete\ the\ additional\ work\ is\ declined\ for\ authorization\ to\ complete\ the\ additional\ work\ is\ declined\ for\ authorization\ the\ additional\ work\ is\ declined\ for\ authorization\ the\ additional\ authorization\ the\ addition\ the\ addition\ authorization\ authorizatio$ still liable for any work already completed per this estimate. By signing below, you authorize TEN-8 FIRE & SAFETY, LLC. to perform the repairs detailed in the estimate above.

Confirm Info :	Signature :	
	para 1858 ambagagini	
Date:		



2904 59TH AVENUE DRIVE EAST

BRADENTON, FL 34203

USA

Phone: 800-228-8368 Fax: 941-756-2598

### CITY OF MARCO ISLAND

50 BALD EAGLE DRIVE ATTN: FIRE DEPARTMENT MARCO ISLAND FL 34145 USA **Amended** 

**Service Estimate** 

Page

Quote No:

231044148

Quote Date

231044148 02/25/25

13/13

Sales Employee

-No Sales Employee-

Customer No.

C00618

PO Number

#22-730K (TOWER 50)

Equipment Id.:

VIN #:

Description:

Veh. Miles:

Veh. Hours:

Approved:

THE LAKE COUNTY CONTRACT

Currency: \$

Confirm Info :	Signature :		
Date:			